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1. Find the equivalent resistance Req in each of the circuit of Fig. 1. (20%)

802
(a) (b)
Fig. 1
2. Use nodal analysis method to find V1, V2, v3 in the circuit of Fig. 2. (10%)

60)

3. Refer to the oscillator in Fig. 3. (20%)

(a) Show that 4 = . l
V, 3+ j(@L/R-R/wlL)
(b) Determine the oscillation frequency £,

(c) Obtain the relationship between R, and R; in order for oscillation to occur.
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4. Find the Thevenin equivalent at terminals a-b of the circuit in F ig. 4. (20%)
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Fig. 4
5. Use the Laplace transform to find /;(s) and I(s) in the circuit in Fig. 5. (20%)
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Fig. 5
6. Find the hybrid parameters for the two-port network of Fig. 6. (10%)
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Fig. 6



